SEH-25L-AAA-O

PITT Qube
O B

O8fidFERCEESTEIEDNHYET,
CERHIBIEREA DM X,

RAREHAORTIIITo>TEY Xt A

OXRTEGISHER T EN TS Y FEA,

2025/01/31 08:31:41

Copyright(c) KOSHIN Ltd. All Rights Reserved.



PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SEH-25L-AAA-0
O&BfMEFERKEESTHIEADYET,
OERHEIFIRBEA DAY £,

No. mE SREZ G - ME BRI EfM S
1 011332903  [SE-25X #° ¥7° #-3 ADC 1 4,500
2 011332501 |[SE-25XIRAT 5> ADC 1 0
3 011332601 [SE-25X F4u 47" NBR 1 800
4 743119032 |MiF BIZhEEMEASBRIL F M6 x2 OSW |3 200
RM
5 014801001 [15A754 7 3 1 0[PA-155(4971770-102149)
6 011845001 |32AT54 4% 1 0[PA-157(4971770-102163)
7 011499201 [SE-25L GR757¥" 7" 3h9b ADC 1 2,900
8 011252803 |SEG-25 BB = ADC 1 1,400
9 011499301 |[SEG-25GRA v RS ADC 1 900
70 |011394401 |SE-25L A/ SREET v & + BS0.3 3 200
11 |011605402  |KM-25 Ah=Aly-b HG-12 1 2,400
12 |890255031 |OUW) 1517-31 1 300
NBR
13 |889855042 |OUV) P42NBR |1 200
14 743119045 |MAN iERESMERASAER IF MBX20 M8x20 |2 200
SWRM
15 |743119046 |MAN BIERESMASAER IF M8X22 M8x22 |2 200
SWRM
16 [743119043 |MiF BiEnESMEAAARIL K M8x16 |2 200
SWRM
17 |734532274 | RARMARIL K (0996-19) M5x4 0CS |4 200
18 |854255005  [v-W79r $5 4 200
79 [071819301  |SE-25 AN-F-03(AEFY) 1 1,700
20 |011784501 |SM-25-15 #v7° Uu% 43 PAO2 1 900|PA-02(4971770-100022)
21 034078101 |SM-25 97" Us)° ABS 1 400
22 |034078401 |SM-25 25X15§5/3=97° I ABS 1 300

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/31 08:31:41




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SEH-25L-AAA-O

OBMEFERCERTSIENHY T,

OERHIBIEREA DM X

No. i LLE Mg - HE BRI Eff T

23 034006501 SM-25 1977 Y7y vy CR 1 300

24 940019022  [f-an"Vh ¢ 22 622 1 200

25 940019032  [f-an"Vp ¢ 32 632 3 200

26 011383701 SE-25 R AR — 2R 1"x3M 1 0

27 011826703 |SEG-25A"-29% (HA) SHLA 1 1,800 47° 3" Afst

106%
28 011675602 |GX25TWJ Iv¥"» ER - 5185 1 39,000
44490

29 011427705  |SEG-25X-A0 WM b STKM RUZ (1 0

30 011675801 SEH-25L-AAA-0%84R TMYT 1A 1 200

31 011257602  |SEG-25 N 17° 1A NBR 70° 4 200

32 011848001 SE-25 9v9yF897° Yy 93 PAOT1 2 3,600|PA-11(4971770-100060)
33 011748901 SE-25 hAny9rT D F4H3 b -f 2 1,800

34 011380301 BARYY AR PBT-G15% |2 900

35 011380701 BADYIN 9%y (IN ) NBR.HS70 |2 500

36 011402801 BADYIAREN 937(25/MM) NBR65° =5 |2 500

37 034078301 SM-25 25X20TT DF297° I ABS 1 300

38 940019026  [-an" VN ¢ 26 26 1 200

39 889855040 |OY»4 P40 P40-NBR 1 200

40 889855018  |OUv¥° P18 NBR 1 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/31 08:31:41




